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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORMN OR MISSING
PAGES OR ITEMS, ETC. IF 80, GET IT REPFLACED BY A COMPLETE TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER SHEET.
Yoo have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

IND NOT write anything else on the Test Booklet.

Thia Test Booklet contming 150 items {gquestions) in two parts : Part A and Part B, Each dlem in
Part B is printed both in Hindi and English. Each item comprises four responses {answers). You
will select the response which you want Lo mark on the Answer Sheet. In case you fecl that there is
more than one correct response, mark the response which you consider the best. In any case, choose
ONLY ONE response for each item.

Yeu have to mark all your responses ONEY on the separate Answer Sheet provided. See directions in
the Answer Sheet.

All iverns carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various iberns in the Test Booklet, you

have to fill in some particelars in the Answer Sheet, as per insiructions sent to you with your

Admizsion Certificate.

Aftar you hawve cnmp'htl!li ﬂ“'iﬁa: in all FOUT TESPONSES 0N the Answer Sheet and the examination has

concluded, yow should hand over to the Invigilator ondy the Answer Sheet, You are permitled to take

away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at dhe end.

Penalty for wrong answers !

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

fi}  There are four alternatives for the answer o every question. For each guestion for which a wrong
answer has been given by the candidate, one-third (0r33) of the marks assigned to that question
will be deducted as penalty. "

(i) If a candidate gives more than one aoswer, it will be treated as a wrong answer even il one of
the given answers happens to be correet and there will be same penalty as above lo that guestion.

{iii} If & queation is left blank, ie, no answer is given by the candidate, there will be no penalty for
that guestion,

DO NOT QPEN THIS TEST BOOQKLET UNTIL YOU ARE ASKED TOQ DO 50
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PART A
SYNONYMS

Directions (For the 8§ items which follow) :

Each of the following 8 ftema consista of a word or group of words in capital letters, followed by
four words. Select the word that iz most similar in meaning to the word or group of words in
capital letters.

1. ABSURD 5. MUTUAL

{a)} Senseless {a) Reciprocal

(b) Clean ' {b) Agreed

(el Abrupt {c)  Common

(d) Candid {d} Conjugal
2. PHILANTHROPY 6.  IMBECILE

{a) Generosity {a} Astute

(b} Perversity i (b} Cunning

{c¢) Perjury {c) Stupid

(dl Flaunting (d) Ludicrous
3. INSCRUTABLE 19. ° WEIRD

{al Strange ' {a) Beastly

(b Mysterious (b)  Unpleasant

{e)  Marvellows {¢) Frightening

{d} Sublime y {d) Unnatural
4.  EXACTLY ALIKE 18, AVARICIOUS

{a) United (a) Greedy

(b) . Identical (b) Jealous

e} Comparable {c) Angry

(d)  Repgular T tdy Wicked

O-0EBA-J-HEB 12-A1
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ANTONYMS
Directions {(For the 8 ite'm:l which follow) :
Each of the following 8 items consists of a word in capital letters, followed by four words, Seleet
the word that is furthest in meaning to the word in capital letters.
9, EXPLOIT : 13. RELUCTANT
(a)  TMilize (a) Avoiding
(bl  Alert . . (bl  Anxious
{c)  Support . {e) - Refuse
{d} Neglect . (d} Eager
‘10. DETRIMENTAL ; _14. INTRICATE
(2]  Demalition ; (a) Complicated
() Aversion (b} Simple
i¢)  Boneficial e} Coloarful
(di. Bad T (d) Good
11. SHARP 15. PENURY
(a) Bleak . {a) . Pompous
(b} Bluni . (b} Luxury
{e) DBrighi {e] Poverty
{d} Blond ' , (d) Punitive
12,  CONDEMMN © |18, EXPOSTULATE
(n) Censure (a) FProtest
" k) Approve (h] Agres
(el Recommend .7 ) Follow
(d) Praize (d} - Argue
O-0EBA-J-HB [3 - A} -
nly T -} I 7ina
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-EP'DTTING ERRORS
rections (For the 11 items which follow) :

{i} Tn this Section a number of sentences are given. The sentences are underlined in three
separate parts and each one 15 labelled (a), (b} and (¢} Read each sentence to find out
whether there is an error in any underlined part. Mo senlence has more than one
error. When you find an error in any one of the underlined parts (a), (bl er {c), indicate
your response on the separate Answer Sheet at the appropriate space. You may fesl
that there is ne error in a sentence. lo that case letter {d} will signify a ‘Ne ecror
TESQANEE.

(i} You are to indicate only one response for each item in your Anawer Sheet. (If you
indicate more than one response, your answer will be considered wrong.) Errors may be
in grammar, word usage or idioms, There may be a word missing or there may be a
waord which should be removed.

{iit) You are mof required to correct the error. You are required only to indicale your
responge on the Answer Sheet,

Examples T and ‘@ have been solved for you.

P. The young child singed ' a very sweet song. No error.
{a) {b) {cd {d}

. We worked wery hard throughout the season, No error,
la) (bl (e} (d}

Explanation :

In item P, the word ‘singed’ is wrong, The letter under this part is (h); 50 (b} is the correct
answer. Similarly, for item @, (d) iz the correct answer, as the sentence does not contain any
Breor.

He hesitated to accept the post  as he did not think

(a) (b}

that the salary would be enough for a man with a family of three. No error.

(e} {d}

Have you gun& through  either of these three chapters
() (b}

that have been included in this volume 7 MNe error,

(ch (d}

O-0ERA-J-HE : : (4-A1
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I am learning English  for ten years without much effect.  No error,

{al (k) () . [d}
Ramesh has agreed " te marry with the girl of his parent's choice. Mo error.
{a} (b} (el {d)

The pity is that no sooner he had left the place than the fire broke out. No error.
(a) (b) (e) (d)

When he was arriving  the party was  in full swing. No error.
() (b) T td)

The Dean wrote he constituted a committes of experts ecomprising of five members

{a} (b}

before the next meeting took place.  No error.
(e} (d)

I cant holp to sneeze 1 got drenched yesterday and have a bad eold. Mo error.
(a) (k) [ (d)

I have lived from the hand to the mouth
{a) (b} _
for all these fifty years though nobody knows it.  No error,

(e} d}

Both he as well as his friend  worked in close harmony
{a) (b)Y
on the same project. Mo error.

(c} {d}

The Monk loved riding and hunting  and refused to conform by rules and regulations
{a) ' (b}

of the ancient monastic order. Mo error.

(el - id)

O-0EBA-J-HB . {B- A}
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COMPREHENSION
Directions (For the 9 items which follow) :

In thiz Section you have fhree short passages. After each passage, you will find several
questions based on the pissage. First, read a passage and then answer the questions bpsed on it
¥ou are required to select your answers based on the conténts of the passage and opinion of the
author anly, :

Ex-amp!ns T and 7" have been solved for you.

PASSAGE (EXAMPLE)

In our approach to life, be it pragmatic or otherwise, a basic fact that confronts us

squarely and unmistakably is the desire for peace, security and happiness, Different forms of life
at, different levela of existéence make up the teeming denizens of this earth of ours, And, no
matter whether they belong to the higher. groups such as human beings or to the lower groups
such a5 animals, all beings primarily seek peace, comfort and security. Life is as dear to a mute
creature as it 8 toa a man, Even the lowliest insect strives for protection ag,ainsi.' dangers that

., threaten its life. Just as each one of us wants to live and not te die, so do all other creatures.

I. ‘The author's main point is that J. Which one of the following assumptions or
: stepa 15  essential in developing  the
(a) different forms of life are found on auther's position 7 :
rith
e {a} All forms of life have a single
() different lovels of existence are overriding poal
possible in nature {b) The will to survive of & creature is

{¢] peace and security are the chief goala identified with a desire for peace
of all living beings _ {e) All beings are divided into higher and
: lower groups
(dy A parallel is drawn betweesn happiness
; and life, and pain and death

{d} even the weakest creature struggles to
presorve its life

Explanation :

1. The idea which representa the aother’s main point i3 “peace and security are the chief
gnals of all iving beings", which 15 response {c). So (c} is the correct answer.

J. The best assumption underlying the passage iz "The will to survive of A creature is .
identificd with a desire for peace”, which ie response (b). So {b) is the correct answer.

O-0EBA-J-HB {6=-A) J
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| PASSAGE T

There are eccentric people who enjoy saving money for ne other reason than the pleasure of
saving money. It is a passion like drinking, and a hobhy like collecting of china. Does it usually
- begin with a money-box 7 Imagine a painter drawing the Miser's Progress in a number of acenes,

with the first scene showing a benevolent grandfather holding out a harmless looking tin

money-box to an infant scarcely able to walk. The gift should alWays be aceompanied by a box of
tpols. As a young man t-h;e infant hag grown into a miser. By the age of forty he has a substantial
bank account But he persuades himself that he is so poor that he never goes to the theatre,
never invites a friend to dinner. By sixty he is a r:ich man and i8 convinced that he i= all but a

pauper.

Some people enjoy 5.31':_1'.1'13 money because
{a) they are able to live a happy life

(b} saving iz a passion with them

(c) they are able to emjoy the plenaur:!a of hfe 5
id) they can eatertain others

If a money-box is given to a child, what should accompany it 7

.

(a) Tips on the advantages of saving money
by  Guidelines to preserve it
(cd  Instructions on when and how to open it
(d) A box of tools to open it

A miserly man of forty deca not go to the theatre becaunse .
{a) he has no liking for plays

(b} he does not want to wm.stc his valuable time

ie)
)

he persuades himsclf that he is very poor

he is frightened by the darkness of the theatre hall

C-0EBA-J-HB
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PASSAGE 11

In the fete, for a ticket costing eight annas you stood a chance of acquiring a variety of
articles — pin-cushions, sewing machines, cameras or even a road engine. One evening they drow
ticket number 1005, and I happengd to own the other half of the ticket. They declared that I
hecame the owner of a road engine ! Don't ask me how a road engine came to be included among
the prizes. It is more than [ can tell you. I leoked stunned. People gui.hﬂﬂ_;d round and gazed at
me as if | were some curious animal. ‘Fancy anyone becoming the owner of a toad engine I’ some

persons muttered and giggled.

8k. The writer purchaszed a ticket

{a) iowin 3 prize
{b) o enter the fele
fe}  to buy some eatables in 1_ché fete

(dl io play some games
i
32, ey in the paragraph stands for

(a) the writer's friends
bl the argamsers of the fete
(e} the stall owners in the fete

{d} the onlookers

33, The writér was stunned because

ia) he did pot win a prize
{b) he was at a loss as to what to do with the prize
{c] people giggled

{d} the fote organisers were rude to him

O-0EBA-J-HE (B -A)
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PASSAGE III

A holiday in Uttarakhand is about supporting the economy and ecology of this fedgling state
with your heart, mind and muscle. Being at the camp with your family is a great bonding

expericnce combined with a grand taste of wild life and adventure.

; First comes the walk from the lakeside to the camp. It's one of the best indicators here to
‘figure’ put how in or out of shape you are. Anything upwards of 15 minutes means it is time to
start taking your body and fitness levels more seriously. To cool off there is always the lake

whaore you can swim or learn how to kayak.

| 4. The word which is used with a double meaning is

fa}) fgure
(bl fitness
{c} shape

(d}  indicators

35. ‘It in the second paragraph refers to

(a) camp

(h)  lake
{cl hﬂ!it‘l;a:,’
(d)  walk "

36.  If you take about twenty minutes to walk from the lakeside to the camp it means that you

{a) are not healthy encugh
(b walk too slowly
() meed practice in walking _ b

{d} must get used to the oxercise

0-0EBA-J-HB B -A)

£ BMay wary the Original.
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ORDERING OF SENTENCES

Directions (For the 7 ilems which follow) ;

In the following items, cach passage consists of six sentences. The firs! sentence {SJ.J and the

final sentence (S;) are given in the beginning. The middle four sentences in each have been

removed and jumbled up. These are labelled P, @, R and &, You are reqguired to find out the

proper sequence of the fuu_r sentences and mark accordingly on the Answer Sheet.

Example X' has been solved for vouw. .

x S!:
Bg:

[ R R -

There was a boy named Jach.

At last she turned him out of the house.
Sn the mother asked him to find work,
They were very poor.

He lived -with hiz mother.

But Jack refused to work.

The proper sequence should be

(a) R-Q-P_§

) P-Q-R-S

ch Q-P-R_S§

(dy R-FP-5-9§

Explanation : The proper sequence in this example is R=§Q-P~8 which is marked by (a).

‘Therefore, {a) is the correct answeor,

0-DEBA-J-HB

{10 -4}
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Sy 5 1 last wvisited Kandy almost 10 years

agn.

55 : Bel around low, forested hills, with the
the
landscape has an intense yet tranguil

Mahavelli river flowing nearby,
beauty,

P . The bomb blasts and ugly face of ethnic
conflict have not robbed the place of its

gracious pace of life.

& The artificial lake, which dominates the
landscape of the city, was built by its
last king in 1806,

Il : Located in central Sm Lanka, at an
elevation of about 1,600 ft, Kandy was
the last Sinhala outpest of autonomy,
resisting both Portuguese and Duteh
rule before it guccumbed to the British
in 1818,

for its Temple of the
Tooth, a golden pagoda hou:.s:ing a sacred
relic of the Buddha, Eandy is a gentle,
elegant, and imperturbable city.

‘The proper sequendce should be

fa) R-P_-Q-8

h) S-F-R-g
el R-F-3-R

(d) P-S—Q-R

38,

i9.

{11 - A}

: The status of women In our country is,

on the whale, far from high,

1 Edueation can lift these women oul of

the depths of misery and ignorance into
which they have sunk.

But the plight of woemen in villages is
still mtserable.

The educated women in cities enjoy
equality with the men folk.

The Movement for the Frecdom and
Righis of Women has certzinly heen
steadily gaining momontum,

Their education has been thoroughly
neglected,

The proper sequence should be

(a}
(b}

e

id)

R

8:

: Edizgon was an inventor of great ability.

R-P-Q-8§
R-Q-P-8
5-Q-F-R
S-P-Q-R

: In the other he pinned the bills owed to

him.
But he had two big books in his office.

In ome of them he stuck the bills he
owred. -

He did not kecp account boolks.

But he was
businesaman.

not A wery  good

The proper scquence should be

{a}
(b
(el
(d)

P-Q-R-8
5-R-Q-T
5-R-P-Q
R-P-Q-5
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5', ¢ I never knew my father or my mother.

5 ¢ There were no children nearby, and a0 1
wandered around in a lonely way,

F: 1 was brought up by my sizter, much
older than L

@ Thay died when 1 was very young.

K : When Gul Mohammad was working at
his forge, I used to spend as much time
as posgible out of doors.

5 : B&he married the village blacksmith, Gul
Moehammad, and [ must sav that he was
kinder to me than she was.

The proper sequence should be
(a}) @-P-5-R

E-R-G-
fe) Q-5-R-
)y P-Q-R-

o = N9

3y 1. We voyaged for many months, stopping
at islands to barter our goods,

Sg : Presently 1 rested under a shady tree,
had my meal and fell asleep by a
murmuring beook,

P: My companions and I went ashore
surpriged by the abundance of fruit and
water on the land.

~Q: But I steolled on leaving them behind.

R : One day winds guided our ships to-an
uninhabited island.

5: The men wandered around enjoying the
delights of the place,

The proper sequence should be
{a} P-R-5-Q

(b} R-P-5-Q
e P-R-Q-5
idt R-P-@Q-5

-8 : However, the city

{12 -A)

1 ¢ Ashoka became an ardent Buddhist and
tried his utmost to spread the Dharma.

S ¢ Buddbism thus introduced the.elements
of peace and telerance in many societies.

P It 'was only by winning men’s hearts
that he sought to make converts.

@ : The Buddhists atiracted followers by
their own example of peace and
non-vislence.

R : But there was no foree or compulsion.

5: Thus Ashoka helped in  spreading
Buddhism far and wide in the world.

The proper sequence should be
(a} R-P-Q-§
(h} GQ-F-R-8

¢} R-P-5-@ i
{d) P-8-GQ-R
5, : Some people prefer country life to city

life,

55 : For these reasons more and more people
are leaving the country to live in the
city,

P Country people live longer and generally
seem to be healthier and happier.

Q: And a chance to meet more and more
people,

R: Life in the country is quieter, cleaner
and less heetic,

offers  more
exeitement and job opportutities.

The proper sequence should be
a}) P-R-Q=-8

by E-P-Q-8
) P-Q-R-5
dy R-P-5-4
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ﬂﬁD‘ERlNG OF WORDS IN A SENTENCE

D.E.mcﬁauﬂ (For the 7 items which follow) :

In the following items, some parts of the sentence have been jumbled up, You are required
té rearrange these parts which are labelled P, @, R and 5 to produce the correct sentence, Choose
the proper sequence and mark in your Answer Sheet accordingly.

"

Example 'Z' has been solved for you,

%. Some poople believe that  the effect  is very bad  on children  of cinema
P Q ] S

Which one of the following is the correct sequence 7

{a) P-5-R-@Q
by 35-P-Q-R
e} 5S-H-P-@Q
dy Q-8-R-F

Explanation :

The proper way of writing the s.mat(:m:n iz "Some people believe that the effect of cingma on
children is very bad” This is indicated by the sequence P-8-R-Q and so {a) iz the correct
AnSWer,

in estimating the size of the sarth

P .
but they were hampered by the lack of instruments of precision ancient astronomers
Q@ : R
usied methods which were theoretically valid

g

~ Which one of the following is the correct sequence ?
(a) R-P-Q-=5

ib) P-R-9-35

c) R-85-Q-F

d) R-F-5-9Q

O-DEBA-J-HB ' {13 -4}
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it iz a pity that by offering o handsome dewry & number of parents think that
P Q : _ R
they will be able to ensure the happiness of their daughters
5

Which onme of the fallowing is the correct sequence 7

(a] 5-Q-R-F
b} P-R-85-Q
) P-E5-R-Q
d) P-R-Q=5

The common man in nurturing & more active role  communal harmony should play
F TR R 5

Which one of the following is the correct sequence 7

(a) P-R=-5-Q
(b) §-Q-P-R
e} 8-4-R-P
idy P-R-Q-5

The doctor able to find out what had caused the food poisoning had not been
P Q R ]

Which ane of the following i=s the correct sequence 7

(a} 5-F-R-Q : L
(b} P-R-@Q-58
e} P-R-5-Q
dy 5-P-Q-H

O-0EBA-J-HB {14 = A}
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was suspended the officer being corrupt before his dismissal from serviee
P Q Rk 3

Whieh one of the following 15 the correct soquence 7

(a) Q-P-S_-R
b}y Q-P-R-8
¢/ R-5-Q-P
(d) R-5-P-Q

With an unsteady hand on my desk from his pocket he took an envelope and threw it
i P Q B 5

Which one of the following is the correct sequence ?

{a) @-R-FP-5
(k) Q-R-5-P
{c¢y R-Q-P-5

d) R-Q-3-F

she gave her old coat to o boggar the or:;e with the brown fur on it shivering with cold
P 3 - g R 5

Which one of the following is the correct sequence 7

fa) 8—Q-R-P
by S-P-R-@Q
e} P-R-Q-5

@ P-5-Q-R

0-0EBA-J-HB ' ; [15 - A}
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"PART B
Cracodiles store Tats in Bd.
(al  head
(h]  stomach
(e)  tail
(d} arteries

In which one of the following is a great dark
plain called “Maria™ found ¥

_ fa) Earth
() Mars
(e} Jupiter :
{d} Moon

Match List T with List 11 and select: the
eorrect answer uging the code given below the
lists :
List T
Winner of
Boolker Prize)

A Arundhaty Boy

List IT
Novel}

In a Free Stale

=

B. Kiran Dezai 2. The God of Emall
Things
. Balman Bushdie 3. The White Tiger
D. V.8 Naipaul 4. The Inkeritonce
of Loss
5. Midnight's
Children
Code
A B C n
a] 1 5 3 2
by 1 3 4 o
c} 2 5 a 1
(ly 2 4 5 ¥

[ 16

55,

- A}

Match List T with List IT and select the
correct anewer using the code given below the
lists -

List T Lise IT
{Exponent) {Dance furm)
A, Surendranath Jena 1. Kathakali
B. Pushpa Bhuvan 2. Kathak
C. Birju Maharaj 3. Bharat
Matyam
D. Sankaran 4. Odissi
Embranthiri
A E C D
fa) 1 2 -3 %
th) 4 3 2 1
(e 1 3 2 4
dy 4 2 3 i

Mateh List 1 with List II and select the.
correct anawer using the code given below the
lists :

List I List I

{Person) {Industrial Unit)
A Indira Nooyi 1. Airtel
B. Mukesh Ambani Z, Wipro
. Bunil Mittal 3. Pepsi
0. Azim Premji 4. Reliance
Code :

A B C D
fa) 3 1 4 2
(b) 2 1 4 3
@ 2 4 1 3
(dd 3 4 1 2
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51.  TRIEE IO o A a2
(a) fm#
b} TXH
(e} Tqus#
(dy oub A
52, Tyefafae o & fe ue # wfar s e ade
 Hew A R e -
()
(by A
(c} gt
d) ==
53. T 1% gh 11 ¥ il Hifiw s R & =
fae T g @ v ol TR ghe e
Gl whir
(g gresr i B (7T}
A - e g 1. Frows
B. e dand 2. R 5ifz 3ife il e
C.  wAWE T 3. B @ aew
D. dve AmiE 4 yRdew s o
5. femew g
A B C D
a) 1 5 3 2
(b} 1 3 4 2
) 2 5 3 1
dy = 4 ] 1
. 0-OEBA-J-HB

117 - A

w0 18 T 1 A gifm B ok R 5

% e m g W v S wE s g
mga; wH i
4 (7 =
A, g EE 1. Tawt
B, s 2. IS
C. fieg wewm 3. sEETEan
D. ¥iwe s 4. sEE
A B C D
@ 1 2 3 4
by 4 3 2 1
e} 1 a 2 4
(dy 4 2 a, 1

gt 1 @ 3 10 2 gifen SfFe ok i &
mmm@mmﬁﬁﬂsﬁigﬁﬂ:

et 1 I
(=) (s g
A . steEm 1. OO
B. e anart 2. fl
C. e e 3. i
D. o e 4. Fem=
E
A B C D
(a} 3 Lo, 4 2
by 2 1 4 3
O ) B 4 1 3
(d)y 3 4 1 2

the original.
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correct answer uvsing the code given below
the lists :
Ligt T List IT
Instiiute) TLocation)
A Mational 1. Pune
Institute of
Immunology
B, Mational 2. Manesar
Centre for
Cell Science
C.  Centre for DNA 3. Hyderabad
Fingerprinting :
and Diagnostics 5
D, National Brain 4. Mew Delhi
Research Centre
Code :
A B C
{(a) 2 3 1
by 4 1 3 i
e 4 3 1
(dy 2 1 3 ’
§7. Who among the following is the winner of
the Wimbledon Men's Singles title 2008 7
(a} Roger Foderer L
(b} Rafasl Nadal
(e}l Movak Dyjokovie
(d}  Andy Roddick !
O-DEBA-J-HE {18 - A )

wWwWW.sarskariresults.

Match list 1 with List II and select the

Consider the following statements :

1. Lamba in Gujarat is famous for wind
power plant.
2.  Mantkaran in Himachal Pradesh is

famous for geothermal energy plant.

Whach of the statements given above islare

correct ¥

fa) 1 anly

(b 2 only

(c} Both 1 and 2

(d)

Neither 1 nor 2

The metal compound commonly found in
Sindhoor or Kumkum is based én

)

{al Tin

(b} Lead
Copper

(d) Zine

Alum is uae-ld as

{a} an analgesic

(b}  a fertilizer

{e}  a disinfectant

{d) o purifier for water

Which among the following elements {metals)
pollutes the air of a city having large number
of automohiles 7

(a] Cadmium
(b} Lead

(e} Chromium
id) Mickel
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4 1 3 2
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id) v A
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1. TERE ¥ e gew wiE deE & e e
&
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o wfe #

T # & w2

{a} &A1

(b} &Ed 2

(e} 1afe 23
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gz on gwgm # WD TR FE AR U
it firm oz amnfa @ 2

tay fom
(by
() ot
dy =W

el moerm e s i g & 7
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(ey  SrmopEEh
(d) = ginNms

ol @ew w9 e @ ag 3wl
e o el #§ 2 S e oo @ 7

fa) iEfiem

by W
() ity
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62. Oxygen and oczone are
{a} allotropes
{b} isomers
{e)  isotopes
{d) isebars .

63.  When applied to the affected arca, which one
of the following will relieve the pain due to
ant-bile or bee-sting ?

{a) Lemon juice

L] (b}  Vinegar
(z] Baking soda
{d} Gs;:latic asda

64,  Which among Lthe following is a chemical
change ?

(o) A wet towel dries in the sun

{b)  Lemon juice added to tea causing its
colour to change

te)  Hot air rizeg over a radistor

(dl *Coffee is brewed by passing steam
through ground coffes

65. Which ameng the following is an element ?

= (a) Alumina

(k) HBrass
fe} Graphite
) Silica

" 88. Consider the following  equation for the
formation of ammonia fram nitrogen and
hydrogen

]'M2 1 3!—1a =2NH,
How many hydrogen melecules are required
to react with 100 moleculea of nitrogen 7
tay 100
(b 200
(e} 300
id} 400
0-0EBA-J-HB

B7.

69!

{20 -4

m

Which one among the following is used as a
moderator in nuclear reactors 7

{a) Ozone

(B)  Heavy hydrogen

(¢}  Heavy water

(d} H}'dn:.lge'n- peroxide

Which one of the following econtains

maximum pereentage of nitrogen by mass 7
{a}

Urea

(b}  Ammonivm cyanide
(&) Ammonium carbonate
(d)  Ammoniuem nitrate

Match List T with List Il and select the
correct answer using the code given below the
lists :

“List I Liat i1
(Substance) {Raw Malerial)
A, Glass 1. Fat and caustic
ulkali
B. Soap 4. Cellulose fibre
and gelatin
C. Paper 3. Silicates of
caleium and
aluminium
D. Cement 4. Siliea
A B C k]
{fa) 3 2 1 4
thl 4 2 1 3
fe) 3 1 2 4
(dy 4 1 2 3
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ST 7 st P S e 2
fa) JOTET

{b) FUETE

() THmnE

(d) TR WA

4@ Tea w wR £ % wwfew dw f A w)
Frfefam & & st v, o Paror won »

(a) FgE .

by T

o) A

{dy ®hEs wE

Pt £ & st Tl o & e

(a) was diten witferen gu A @ o @

(b} T ¥ iy * sy | FHa A gan T #
{e) ¥Roe & F ww ang IS @ :

(@) o BiE & ane R & S e ¢

AefEn i o rs T e ?
{a) e ' '
S G

©) e

(dy P

O a FREEE W sEbE o & Pt
a3 R o
M, + 3H, = 2NH,
A F 100 SO ¥ wiifem Ty B B e
ETEEITA QT B I w2
{a) 100
by 200
{c] 300
{dy 400
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68,
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afd fvwd 4 Feffes & 3% s s,

.ﬁﬁmﬁmmmi?

rFE
CYRI msa‘rm
{ey Wt ar

{a}

Frafafaa # 4 et zomm & e & sitwan
wierm Sge e e # 2

(a) g
) am‘rﬁmm:ag'
() FFREm Tl
() FfEm A
T 1@ g 1 ¥ g B 3k afd & 9
faw e g @ wam R I g
%I rﬁaﬂw
A TW 1 99§ TS &R
B, @A 2, Feprs a4 @ e
C. @ 3. m a efifom &
D, 4, Fafem
®:
A B C D
(a) 3 1 4
b 4 2 1 3
) 3 1 .2 4
@ 4 1 2 3
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Twao clements gallium and oxygen combine to
form 2 compound GayO, Which among the
following 1% the valency of palliom ?

fa} 1
(b} 2
(e} 3
(dy 4
Vinegar iz the trade name of
{a) .ﬂs-celiu acid

(b} Chloroform

{e)  Carbom tetrachloride
{d} Ethyl aleahol

Censider the following statements rogarding
dinmond :

1. Ttis an allotrope of silicon.

2. It is a bad conductor of heat and
electricity,

3. It is the hardest substance.

4. It burns to produce carbon dioxide.

Which of the statements given above are
correct ?

fa) 1,2, 3and4
(b) 2,3 and 4 only
(e} 1 and 2 only
{d) 1,3 and 4 only

Whieh one of the following chemicals is used
in Beauty Parlours for hair-setting 7

{a) Sulphur based
(h)  Phasphorus based
(e} Silicon based

{d} Iron based

O-0EBA-J-HB

" Meon-conductors, whose polarization is caused

by anelectric field, are known as
(o)  Semi-conductors.

(k) Super-conductors

(¢} Dhelectrics

{d} Resistive conductors

The resistance of a wire that must be placed
parallel with a 12 0 resistance to obtain a

“combined resistance of 4 €2 is

al 2q
b} 40
(e} &0

dy 80

One light year is equal to
(a) 946 % 107" m
b} 946 x 0¥ m

) 946 x 107 m

(dl 946 % 10" m

Which among the following thermometers is
preferred for measuring temperature sround
125070 7

{2} Mercury thermometer
(b} Constant volume gas thermometer
{c} Optical pyrometer

(d} Platinum resistance thermometer
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(d) “neither depends on its wavelength,

www.sarkariresults.io

What is the mass of one litre of cottonsecd oil
of density 926 kg/m? ?

{a) 926 kg
(b} 926 kg ;
fe) 0626 kg
(d) 9260 kg

The wavelength of X-ravs iz of the order of

{a) 1 mm

b} 1cm

{e]l 1 micron
{d} 1 angstrom

In vacuum, the speced of Hght

{a) depends on its wavelength
{h)  depends an its frequeney
{e)  depends on its inmnailty

froquency nor intensity

Which one’ of the following statements

correctly defines power 7

{a) Energy supplied per unit time
{b) Energy of an object due to its motion
(e} Energy of an object due to its position

(d) None of the above

The glectrie charge is stored in a device called

(n} TInductor

(b} Capacitor
(e} Resistor

{d) Transformer

83.

a4,

Ba.

{24

-A)

Censider the following parts of spectra :

1. Visible

2,  Infrared

3. Ultraviolet
4,  Microwave

Which one of the following is the correct

sequence  in  which  their wavelengths
increase 7

(a) 4-3-1-2

by 4-1-2-3

() 3-2-1-4"

(d) 3-1-2_4

Propagation of light quanta may be
described by

(a) Photons

(b}  Protons

(¢} Meutrons

{d) Electrons

Which one of the following is nof
electromagnetic in nature ¥

{a) Cathode-rays

(b} X-rays

{c) Gamma-rays

{d} Infrared-raya
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V=10V

89,

1.

Which among the following is the necessary
condition for simple harmonic motion ?

o} Constant period

{b) Constant aceeieration

E.c]I Displacement and acceleration are
proportional o

fdi Displacement and torque are
proportiong]

Consider the fullowing four particles -

1. Alpha partide

Z. Proton

3.  Electron

4. Meutron

Which of the following is the correct

sequence  in which  their  rest-masses

increase 7

{a) 3-4-2-1

® 4-2-3-1

(e} 3-2-4-1

d) 2-3-1-4

If an o-particle is projected normally through
a uniform magnetie field, then the path of the
o-particle. inside the field will be

86,
i1}
{r
RI =10
AhMAS
B,=20
A
Which ene of the following is the value of
current [ in the circuit shown above ?
(a) BA
b} 10 A
{fe} 15 A
{dl 204
87. The force experienced by a unit positive test
charge placed at a point is called
{a} Magnsetic field at that point
{b} Gravitational field at that point
{e) Electrical field at that point
{d} Muclear field at that paint
B88. A long jumper runs before jumping because
he
{a) eovers a greater distanes
(b} maintains momentum conservation
(e} gains energy by running
{(d} geins momentum
Q-0EBA-J-HBE

|26 - A )

(a) eircular

(b} parabolic

{c) elliptic

{d) a atraight line
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